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6.

The input signal to the

(1) Determine

(2) Consider a discrete-time LT1

(1) from y(t)? Why ? (4%)

3) Isit possible to recover X
<W TR CAY,
(Hint: x(t)=——=" €L R P

following discrete-time LTI system 1S given by

x[n] = Z 5[n—4k].

k=—o0

the discrete-time Fourier series of x[n]. (5%)

system with impulse response given by

1, 0<n<?2
h[n]=<-1, -2<n<-1.
0, otherwise

Determine the Fourier series coefficients of the output signal y[n]. (6%)

Consider a discrete-time LTI system with frequency response given by

o
N )
H(e )—1 1 -jzn, -n<Q<7x
e
9

Determine the out
put sequence y|[n] of the
inputs: system for each of the following
it F

(1) X[n]=(-;-)"u[n]- (5%) E
2) x[n]=COS(-§—n). (5%) 0 > £ (
B | )
vy
AW ! e 2;! x




Justify your answer. (4%)

(2) Does a parallel system of H,(e-’“) and Hz(e’n) have linear phase’

Justify your answer. (4%)
10. Consider a second-order causal LTI system described by

yln]-2rcosOyln =114 r'yln 2] = x|n|

with #=02 and O<@<z. Find the frequency response H(e’*) and
impulse response h{n] of the system. (12%) - :‘%)
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